EL 2 ').? +13 éF: r""rz"'rs

Fg ‘-‘15? 4 ¢
g = =34\ -
1] .
T \:':&u\ob_sl
sFzma = ZF _ .
=
e N _"4
= A= 1ri§'l "_:J
“m, \ ===
. S y)
A')'L Ata
. & i
@I% '—A—}: —71’ o -1 > )
" -38 ° "33 33
=1 o 34
6 :l:,aM & = tGMTJ _L ) l o
N (33) = 1.5
180" ¢ .
_~____¢__v_ 0:-"__..@,0’\‘ 0.\')

' .
o Lo o 93
u du‘zj"’:&

; Ll
Beigs  pes st ¢ oot e
= L&) wite = 1 8ay
/\\/\
(%4 . i > = 3. n
Yj \;_r—.——l\«u.f o 5 -

Fzma :iF‘ % 5
p = m Ty
0y A 3.3 3.7s
.if_'ﬁ=—l°.|3|-o.2?a
a
F Sy
T
|25 2 .
ArelE= (—I“ﬁli).',(—o,z:])" = |13

—a’:' “‘.I'}Jiz:)

@ Fizo , U}.=? It:los

F (o) QS 8) 161 Andia 2 Jlgu

LQ-'_"F\' +at
(‘ - ),
Ce=z 0 +(335)(le)

L%: 3752?;

A

3 A ? 51
Ae=88 i . 631y
le13 1013

- A
A = .3.35) - ol
oias &
U; =Lr"l'Ab

4 2.
Uk .0 +[=379) -o.lJ.X (\e)

= A
u;: :3?-5):! 'L-:l\ﬁ
(S U”g

m

L&—,-%?S ~




U‘.:O ,a4n~Yym ,t=25

F:?

Fema , d=¢ G e 5 o e,

N
= : a1 -1€

f 1 +U.t -"T,_At F: 3.6‘;‘*‘0 N
AN = Uik +’714t1 W:ma Y- DI PyT)
Li = O .“L’L&\ (2)'1- = 9.|X|:3' (’.f)

- -3

U=z2a= a=2m W"g"‘\'lo °”

T i

Fzma = (3 , et NG
= )(2) = 6N - Lo i
2‘97'0-.3‘) w
5] I s
g m‘—-skala-_zl_‘_g\‘ (L :"’{,| {la”
s2)
F-»
F " 5y
Tema = 3)[ 20 v ]
N A
F - é) +15
= F -214)‘)10651.

1Fl -
m= 16.1€ w

O U?:leosr% r ‘Q:?xlos'i
s

AN= §cm S Bk
mc: ylxl‘;ilk}
} -~
I C;}Qﬁld}s/;gul,gdl
F:mA J A:?
2
Up'= ;"2 4 2
; 2
(7xlu;)z: (BXIO;) 3 20 (©905)

1 2
= = ; m
lA = “[,Ho __5,1‘

F=ma =(81x13%)(un1d)) = 3.64 P

(oo QSN 8) 162 + 161 4sia 7 + 5+ 4 Il




\? lta,

!
1

s g1 NS
G ia:m%‘ AP oyiay)

J
To = T s = m (o)

\ 1:¥:(¢S‘a-o C

Y: 5_1-'3__".%
T smée -T3 =m (o)
IS e &5 ples
,Ta
w0z 505
ye Ihe a

T3-m§ = m(o)

_r3 ES mﬂ—_o

Ts, = ™y = (lo) (23,
Ts = 23,

Tsinbe -98:0 : A@ ¢ I,

a‘T.: 113.2 »)

Ty = (113.2) cogbo =0

bz - 56.64|

: @ ¢ g AL

(o)) LSl 3) 162 dnia 8 J) g

T ipeilie = 40 5e° T, tesSe

+ Eas1 s 4l e
5_ Fm=m%‘_

2@
T tos So =T, @s4o = M (&)

lt—’z %SQ‘TWHQ- C@®

Y: ZFzm“

k—rSInqu .,,‘T S Se ...T'S._ = &%Q)(@

e x: o

é -;JSJ\J&(},;U,C&,_,’

(W Rhgemay
T3 -mg =

n

T3 = ma =(5)(_9.£)
[Fis]
FREBRCviN e g BA@R Al
T= i o 'l

| &5 Yo
(FizoouT,

P B@E Qe

(°.8‘i1;,_) Sim Yo +T, Siv Se -49< o0
0.5 T, + 0.777T, = Yo

T =egy(3ty) * T WO

(Tt




$ Zaad s 43 Jlew

a: 2‘rfn:mam. ’
NP LSy
g
T, 58 ~Ti4s6 = o

T
\Ti‘ Lk )
b,
g LE el
\"T‘.Sa‘nel—r"ﬁ.Sl'ne,‘_—Ts =o] (2}
:,{v‘&sc{;’-’la"mb.
T
w
)
A: © b A5
yi Zhema
q;yf;»

D (o QSN 8) 164 dada 11 JIsm

T oot o (2) Aol v el
,£931‘i ( 54 3

T ws8,

i ( ane - W= a
—‘TSDVA e s 405-61' ) 2

I [ sing@, + @38 5""67_}
=w
s B
3 2

‘M‘\/—’J
LUl Lo g

Sin-el "5'6
T [ Al wa,
2234 s

‘”6: Slhez]_ o

8
T = W g \-\
s.‘-\q wé x %58 50g,

[: Z

o L/
Con . SWé
816> = sind s G s 8L

Sin (

Y Y e
l\T 2 W _?3_7;_ o plhl) 999
N i 4 BV T
(3) 5401
e P
W= 3254 ;e

6]:25: q:lo

325) @as o _ g
qa B M 558 W

Sia (25+k)
8, 558 &50% _5izspw
cod = NS S
™ e e T
s G

"

T2

|

2 ¢

T =Ty 5 + T S0ag

S EEgviers v SWETRE

R ol
Tg:ﬁ.‘;/v’?{,w‘,u L Z

i

Tz=w = 315w




L (ol QSN E) 165 daiia 13 Jism

In the system shown in Figure P5.31, a horizontal force F,
acts on the 8.00-kg object. The horizontal surface is fric-
tionless. (a) For what values of F, does the 2.00-kg object
accelerate upward? (b) For what values of F, is the tension
in the cord zero? (c) Plot the acceleration of the 8.00-kg
object versus F,. Include values of F, from — 100 N to

+ 100 N.
8.00
®  wl—F
2.00
kg
Figure P5.31
P5.31 Forces acting on 2.00 kg block: 1“
ol 8 kg
T—myg=ma (L) T | F,
784N
Forces acting on 8.00 kg block: T
F —T=myn (2) 2kg
19.6 N
(a) Eliminate T and solve for a:
a= M [ T (m/s?)

HTNote that [ 15f+++ -
- slope changes | 101+
Cat F=-784N |-

I

a>0forF, >mg=106N |.

(b) Eliminate a and solve for T:

1
T= 71[13;_ +myg)
my +1y -

FIG. P5.31

|[T=0forF, =—myg=—784N].

(© F,N -100 -784 -500 0 50.0 100
a, mfs? 125 980 69 19 304 804
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